Friday, March 27, 2020

Sec 7-2: Coterminal Angles.

Coterminal Angles: Angles in Standard

Position that have the same terminal side.
They start and stop in the same spot but aren't the same angle.

CF 8, =64 + 360

Terminal Terminal
Side Side

Initial Side Initial Side

04 and 6, are coterminal angles

Find two positive measures of this angle, in degrees.
1. Start on the initial side and rotate CCW
900 until you reach the terminal side.

6 =180-50=130°
509 X 2. Start onthe initial side, make one full CCW

013600 rotation around, then continue rotating until
you reach the terminal side.

180°

6 = 360 + 130 = 490°
70°

These two angles have the same initial side and terminal side yet
have a different degree measure.

In this diagram, 64 and 6, are coterminal.

6, =180 - 50 =130°

oY

NG 2

6, = 6, - 360 = 130 - 360 = -230°




When measuring in degrees you can find a

coterminal angle of any given angle 6 by
adding or subracting
360° or any multiple of 360°.

Coterminal to angle 6 = 8 £ 360n

n = an integer

Find a positive and a negative coterminal angle for
each given angle. B =-430°

Pos:  -430+360=-70
-70 + 360 =[290° |

Neg:  -430-360=
or
-430 + 360 =

Find a positive and a negative coterminal angle for
each given angle. B = 800°

Pos: 800 + 360 =
or 800 - 360 =[440°|

Neg: 800 - 360 = 440
440 - 360 = 80

80 - 360 =[-280°]

When measuring in radians you can find a
coterminal angle of any given angle 8 by
adding or subracting 21 or any multiple of
2.



This means that if your angle is measured
in radians it may very well be a fraction!

Keep in mind the number 2 as a fraction
will always mean the numerator is twice
as big as the denominator.

Forexample: Z 427 =1 4 10z nar
) S ) \5
Find a positive and a negative coterminal angle for
each given angle. Give each answer in radians and
in terms of n. Reduce fractions.
= o2 = 127
g =137 6
6
. =13z , 12n g | |Neq: =13z 127 251
Pos: 3 + T i g ¢ G ¢
g 127 llr 13z 127 _[-=x
s . =3z =0
% "6 L8 ° 6 "% 6

Find a positive and a negative coterminal angle for
each given angle. Give each answer in radians and in
terms of n. Reduce fractions.

8 - bn
0= A 2r 3
Pos: 8r ., Om _[l4n Neg: 8t _ 67 _ 2n
S i 3 3 3
or 8z _57 _[2x 2 SF . |—4m
3 3 L3 3 3 3

We usually like angles to be measured somewhere
between 0° and 360°, when measured in degrees, and
between 0 and 21T, when measured in radians.

Use the concept of coterminal angles to find a coterminal
angle in degrees such that 0° < 8_< 360°

1. 8=780° 780 - 360 =420

420 - 360 =(60°]



Sometimes you have to add or subtract

360 more than once. It's helpful to know

some multiple of 360 to speed up the
process:

_ These are two of the more
2(360) =720 commonly used multiples of

3(360)= 1080 360

Use the concept of coterminal angles to find a coterminal

angle in radians such that 0 < 6 < 2m
= 31

T = 198 4
0 4
197 87 _ 1z
4 4 4

11z 87 o0
4 4 4

Use the concept of coterminal angles to find a coterminal
angle in degrees such that 0° <6 < 360°

2.8 =-1300° -1300 +1080 = -220
-220 + 360 =

Use the concept of coterminal angles to find a coterminal
angle in radians such that 0 < 6_< 2

_ =11 _ 10z
2. 0==Uz 2m = 42
11z , 10m _ _jg
5 75 T3
1z  10r |9~x
5 t75 =75




You can now do Practice #10
which is posted on my blog.
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